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OLIVER TWIST

TEST ANSWER KEY LEVEL e

1 1d 2b 3e

2 1 when
2 so
3 but
4 so

5 Assoon as

3 1a

5 1d 2b 3e

Oliver
Mrs Bedwin
Fagin

Mr Brownlow

g A WON -

Mr Grimwig

7 1c 2a 3b

8 1a 2¢c 3a

101 b 2a 3¢

11 1a 2a 3¢

41 5 a

2b 3d 4a 5c¢

4 1F 2DS 3T 4T 5F

4 c 5a

4 a 5d

4 b

2F 3T 4T S8F

4 a

4c¢c 5b

6 DS

13

14

15

16

17

18

19

20

3 If she had died, I could never have been

a b WO N -

B WO DN —

a b NN -

If Oliver stayed where he was, he would die.
If T could reach the house, I might be safe.

happy again.
If the police come here, I will turn you in.

If she hadn’t died, she would be in prison.

2 b4 ¢5 d3 el

c 2a 3e 4d 5b

must
back
kept

need

but

something
Sometimes
everything
nothing

c 2g 3f 4a 5d

2 b6 ¢c5 d1 e3 f4

were
to

with

to

t 2d 3a 4b
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21 1 was given 27 Nouns
2 were stolen .
gruel, coffin, carriage
3 was taken
4 was left
Verbs
5 was never seen
bow, struggle, adopt
22 1 workhouse Adjectives
2 1
grue terrified, innocent, smart
3 handkerchiefs
4 portrait
28 1 gruel
23 1 Fagin Sikes left Oliver in a ditch 2 carriage
and ran away. 3 coffin
2 When the weather got warmer, 4 innocent
Mrs Maylie and Rose moved to the 5 smart

city country, taking Oliver with them.

3 Monks took the necklace and dropped

it down into the mitk water. 291 c¢c 2b 3a 4f 5d 6c¢
4 Monks’s brother is MrBrowmtow Oliver.

30

shawl

24 tools
handkerchief

carriage

looked after
run away
got up

took off

found out

g A WON -
B W DN —

25 1 Oliver

Mr Brownlow
Rose

Monks

Nancy

g b WO N -

201 T 2F 3DS 4F 5T
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